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February 19, 2014

A. I have 3/4 of a bag of marbles,  I give 2/5 of 
them to Nick.  How many marbles do I have left?

B. I have 3/4 of a bag of marbles,  I give 2/5 of the 
marbles to Nick.  How many marbles do I have left?

C. I have 3/4 of a bag of marbles,  I give 2/5 of the 
bag marbles to Nick.  How many marbles do I have 
left?

D. I have 3/4 of a bag of marbles,  I give 2/5 of a 
bag marbles to Nick.  How many marbles do I have 
left?

A. I have 3/4 of a gallon of water,  I pour 2/5 
of it on my plants.  How much water do I have 
left?

B. I have 3/4 of a gallon of water,  I pour 2/5 
of the water on my plants.  How much water 
do I have left?

C. I have 3/4 of a gallon of water,  I pour 2/5 
of the gallon of water on my plants.  How 
much water do I have left?

D. I have 3/4 of a gallon of water,  I pour 2/5 
of a gallon of  the water on my plants.  How 
much water do I have left?

A. I have 4/5 of a bag of donut holes.  I gave 2/3 of my 
donut holes to Kari.  How many donut holes did Kari get?

B. I have 4/5 of a bag of donut holes.  I gave 2/3 of my bag 
of  donut holes to Kari.  How many donut holes did Kari get?

C. I have 4/5 of a bag of donut holes.  I gave 2/3 of a bag of 
my donut holes to Kari.  How many donut holes did Kari 
get?

D. A bag of wild rice weighs 3/8 lbs.  I have 5/4 of a bag (I 
have 1 1/4 bags) of wild rice.  How much wild rice do I 
have?

E. A bowl holds 3/8 lb of cherries.  My bowl is 9/8 full.  
How many cherries do I have?


